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T.THOH Ol L T & = H| A2 RS A
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01 HEbl 500 500 0
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o] NP 10,000 10,000 0
401 A2 H 2 20HY 10,000 10,000 0
01 Al&dH] 10,000 10,000 0
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StE S Xl2tel 24,160 23,420 740
201 L2 2,160 3,420 A 1,260
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220,000& x2H +12& 5,280
St 22 XH2tel 220,000& 1H~123 2,640
4SrEELUN oIS Te
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2A: WS
S RS CA DEBH T4
ool =XE 22l (FUHESESIAH) (H:H2)
S E O (EH) - MBAIY - B Of o e Hl R =2
02 E=2gHl 198 220 A22
(S322LHA) 220
I HZ=NRAFENZ OXM 2202 %2500H *4 8] 220
(CllarE2) 220,000 *~10% A2
JEt=xd |fXE= 38,215 38,249 A34
201 L EH2FH| 310 344 A34
02 2323l 310 344 A34
(B322LHA) 344
TIHANFANEBAMIUNL =SS ERIAM(SII)
1,720& »2000H 344
(ol arE2) 344,000 *—10% A34
401 A& HIZ 20 37,905 37,905 0
01 Al & Hl 37,500 37,500 0
1.0/ HEEFIE A XL FH|
25,000 502 x200H & 25,000
2L NF=TNERKNES 25,000& »500H 12,500
03 Al& 2 0HHI 405 405 0
1T.AIE 20l 37,500,000 *1.08% 405
EHFIX SEH(FUNEELIA) 371,592 552,537 A180,945
Al 7,000
- 364,592
o ARE &8 19,752 23,160 A3,408
201 B2 HH| 19,752 23,160 A 3,408
01 AR 2teld| 19,752 23,160 A3,408
(2ers=&dl) 18,060
1. 2EYUFENHSANRES 5,360
JHUZESHY 9,000& 203 180
L. SdUHCIZE =& D] 30,000& 2074 600
CH AR EE =223 50,0003 x25 *24 2,400
ct.CIXENZe3tE 80,0003 =144 1,120
Or.ZHLax=zxl 80,0003 25+ A 160
Ht. el 3,000& 60 180
AN DSHS S 28 12,000& *3& 201 720
2. 28HFENHESNALEES 12,700
Jb . MEHS S OCH A XS AEIH Q1A
1102 *40, 00004 4,400
L. & 2he 150, 000& *1J1*x103] 1,500
ChZENEAHEELMET
30& 30,0000 *2& 1,800
ch.UEHE R UMBE S KA 50& *100,0000H4 5,000
(L=Hl) 6,630
1. 2EHFEXNESERA 6,630
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B
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o SEHY 10,0002 * 1524 * 13 1,500
Lh22=(4.512)  120,0008 %152 «23] 3,600
Ch. Ml 3t 60,0002 * 152 *13] 900
ot 2eg 6,0008 *15% *23| 180
O <2l 30,0002 * 152 *13] 450
(Ol AF= ) 24,690, 0002 *~20% 14,938
S XY =Y 138,628 36,775 101,853
201 2Bre | 24,728 27,475 N2,747
01 Ak 22l 2,250 2,500 A 250
(2ergHl) 2,500
REEEIYEPEY 2,500,0002 2,500
(ol A=) 2,500, 00021 +~10% 250
02 B2l 22,478 24,975 ~2,497
(A& =S 24,975
1.2EIIRX 244 35,0002 5L 175
2. H=BIIHSRX RS 40,0002 20CH 800
3.HEXYRX 24| 4,000,000 *6CH 24,000
(Ol A=) 24,975,000 *~10% ~2,497
405 X+ &HF S| 113,900 9,300 104,600
01 AL SZH S| 113,900 9,300 104,600
1.HZOI002 PY(RESEAEL)
900, 000! *1CH 900
EUHEUFINSBAAY 7Y
33,000,000 +14! 33,000
JAFHEHFINSBAAEY 7Y
40,000, 00021 *2LH 80,000
HEN S AL I 80,720 80,720 0
401 A SHIL 2O b| 80,720 80,720 0
01 Al tl 80,000 80,000 0
LEYFEH2NRAFTHS AL LTL |
5,0002! *10,000m 50,000
PEHFIANBNEX BA XL
200, 0008 * 15074 4 30,000
03 Al & 2 CHH 720 720 0
IR L] 80,000, 00021 *0.90% 720
PENICS NAQY SX(UAEH OFRAA) 7,000 7,000 0
Al 7,000
307 812+H0| A 7,000 7,000 0
Al 7,000
02 pI2tH AR R 7,000 7,000 0
LEMEEINCS NAQY SE(UASH 02
24)) 7,000,000% 7,000
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O & 04
| A 7,000
CtE e Ol A H 116,492 123,882 AT,390
201 dEt2AH| 13,172 16,800 N 3,628
01 AtR22t2|d| 13,172 16,800 N 3,628
(=) 16,464
| EHFEYIORNUDEUSHCIS
7,000 *14H x20 L x 12& *70% 16,464
(Ol AFE ) 16,464 ,000& *-20% N3,292
202 (4 Hi 38, 160 46,080 NT,920
01 2| 6,480 8,640 N2,160
1. F=E XS H0| 20,000 9L x3H x12& 6,480
02 2 X0 b 31,680 37,440 N5,760
1. FEXIHSE AN 220,000& x 12 x12& 31,680
301 dEt8EAZ 65, 160 61,002 4,158
09 B2L2RIALAZ 65, 160 61,002 4,158
1T NSEMAESUARA 51,660
DI === = 93,700& 15 «12& 16,866
Lt.SAlH| 5,000 15 22 12& 19,800
Ct. WSt 2,4003 15 222 12 9,504
ch.22= 120,000 15 23| 3,600
Ot.s&H 48,000 x15H x13] 720
Ht. 223t 48,000 x15H x13| 720
AH. 29| 30,000& x15ZH 13| 450
2.0 S5 L ESLEEZ AL
5,000 *15H * 15 x12& 13,500
N2y 9,000 9,000 0
204 AR A H| 9,000 9,000 0
03 EEYRAHI 9,000 9,000 0
1.0 eS| 50,000 x15Y =12 9,000
SYHZTHISHECCTV 2 (=XEELSIAH) 186,781 230,406 N43,625
SYHF=HXIHECCTV |AH &2 186,781 230,406 N43,625
201 Lpr2e| 186,781 230,406 ~43,625
01 AR 22/l 4,896 6,120 N1,224
(Let4=2H]) 6,120
| HUANUEBHEHBEY
246 ,000& =201 4,920
2.CCTVHHHASZA AR APE S JlE=
=4l 100,000%123] 1,200
(Ol AHE ) 6,120,000 »—20% A1,224
02 3=2gH| 181,885 224,286 N42,401
(B32YLHA) 84,024
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FA WSH
MM YHE CA DESY T4
el SYEFIXULSCCTV 2 (=HESEIA) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
1.OZACCTVEDIRE 43,5003 3200 A «128 16,704
2.012 0227 HCCTVHIIR=
10,0002 #5500 A+ 12& 6,600
3. FACCIVEESIEZ
100,000 »32CH x 122 38,400
40120257 ACCTVE M=
30,0002 620« 12& 22,320
(N ZHl=XHl) 118,070
1. =S CCTVS X 2 4=H]
25,960,000 »3CH *13% 10,125
2. D ECCTVR X 2 4=t
25,876,000 «32CH *13% 107,645
. REESEEIIRAE | 300,000 300
(Ol&HE ) 202,094,000 *—10% A20,209
EHFIXNAL UHE A (FUHEELIA) 280,516 298,966 /18,450
SEHFE XL Hel 271,843 290,650 18,807
201 dEt2 | 247,343 262,650 15,307
01 AtR2tel 35,743 51,050 A15,307
(ger==&Hl) 41,150
1. OSO0INZREHARE(DANEZE)
10,350,000 ~1CH 10,350
2. =S XA UEHES DX A 503 *36, 0000H 1,800
.FENLEHE=SFEIXNA 23,000
Jt.0CR2 Xl A 50 x50, 0000H 2,500
L. 2F0l 1A 50& =10, 0000H 500
CH Ot SEgSRotlE 502 *400,0000H 20,000
A NEHHEYR MEIIEE M
500,000& =12 6,000
(S&Hl) 3,528
1. 28FEIME LS EH =4
7,000 x 12 +5A1 x 122 x70% 3,528
(Ol AHE2E) 44,678,000& »—20% 28,935
02 =524 211,600 211,600 0
(BS2=LHA) 211,600
TLFEN U2 DRIA(LEE)  22024+70,0000H 15,400
2.FENUEE=SEDXNAN 40,200
Jb.get 2203 *3,50021 122 9,240
Lh. &S91 1,720 %1,5004 x 12& 30,960
JFENMEUEHE2SE DA (L8
2203 +120,00024 «23] 52,800
4. FHNSGEHEMES KM (SI)
1,7203 60,0002 103,200
207 S PO 11,000 0 11,000
02 & &HJHEH 11,000 0 11,000
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B
2

1 OB UL A AEDBA S S T2 1 2|
11,000,000 1,000
303 L& 3 5,000 5,000 0
01 Z&3 5,000 5,000 0
| DA EHEIAVANRI ST A 5,000
B[ IELS[EPY 48,000, 000+ 1% 480
Lh. D S ou Rt 34,000, 000+3% 1,020
SRIELEP PN 70,000, 000+5% 3,500
405 Xt aHE St 8,500 23,000 A14,500
01 A USBHSH) 8,500 23,000 14,500
| MASHBHEHME ISP SBYR 2o/ T2 I
2| 5,500,000 5,500
2. XS DENEHIE KPS B X SPOATR b
1,500, 00021 #2CH 3,000
AN 22BY SXH 22 8,673 8,316 357
201 YEr2gy| 8,673 8,316 357
02 T2 8,673 8,316 357
(A& ZHIRIE) 9,636
1. D&Y 0IHIRIE R X 24|
253,000% 122 3,036
2RISR UIZ BRI 24|
550,000% * 122 6,600
(0 &= ) 9,636, 000! +~10% A963
B XS (FAESEE) 3,256, 189 2,561,420 694,769
Al 4,000
2 3,252, 189
REBYFXNEY E4 253, 123 253,300 AT
201 YEregy| 1,323 1,500 ATTT
01 At 22|t 1,323 1,500 AT
(SzH1) 1,470
| ERZELYLERZ A
7,000 %52 %541 * 122 x70% 1,470
(0 &= ) 1,470, 00024 *~10% A147
401 A2 HIL 2O 251,800 251,800 0
01 Al&H] 250,000 250,000 0
| AR2TYEIFES  250,000,0008 %14 £ 250,000
03 Al& =2 ChH] 1,800 1,800 0
IPNEET 250,000, 000% 0. 72% 1,800
HE =Rl Xg 8,000 10,000 A2,000
Al 4,000
2 4,000
402 212t 20| 8,000 10,000 A2,000
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fA: WS
: YPHE TA WEEE X
Eel: FUHE M (FHESEEA) (ehel: =3
A - HE - S9I(E) - NRAY - BYS 01l &t o als B RS2
0f 4 o8
Al 4,000
- 4,000
01 QX=X 8,000 10,000 22,000
TLHEF=XEHIIRE A 8,000, 000& 8,000
Al 4,000
- 4,000
WEMNE HRIts &2 2,695,066 1,998,120 696,946
706 J|1EFLHE H el 2,695,066 1,998,120 696,946
0B HES 2,695,066 1,998, 120 696,946
1. 883 2,695,066,000& 2,695,066
SEHQ A2l 300,000 300,000 0
801 oIl 300,000 300,000 0
01 ol eld 300,000 300,000 0
1.0818] 300,000,000& 300,000
HY2IZH(LS) 1,011,482 952,933 58,549
QIR A 159,548 131,522 28,026
eI H| 159,548 131,522 28,026
101 21 24d| 159,548 131,522 28,026
01 E= 100, 184 71,779 28,405
(A2t 222Y) 100, 184
1.5 10,4863 »1H *x33Al 2t+12& 4,153
2.6 8,943 x7H «33AI 2tx 123 24,790
3.72 8,078R «12H +33A 2++12& 38,387
4.858 7,252 3«7 H+33AI 2tx 123 20,103
5.98 6,555% *4H «33Al 2tx 12 10,384
6.10= 5,9773 *1H»33A1 2t+ 122 2,367
02 JIEtA E = 59,364 59,743 A379
(H="CH'S) 59,364
1.4 3,951,080 x1H«12& 47,413
2. 1< M&Hl 47,413,000 *3.5% 1,660
3.JIE =Y 10,291
JbotEsE 1,440
BLLE; 40,0003 x1E*12& 480
2)JIEIIE 20,000 x»4H « 128 960
WSEETCE SN 1,787
DSst 446, 7002+ 1 %47 1,787
CH A 2R e
7,6853 «1H «33A| 2tx 123 3,044
[ ESE= hee 155,000& x1H ~12& 1,860
(1] PSR =gl 130,000 x1H «12& 1,560
Hr.oigl sy 50,0003 x1E«12& 600
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2H: DED
B #YLSAAL (RS
ool ol e (RXASE ) (el a9
SA-E . S(E) - MEAY - BES 0 & 24 e SImE=ET
QIARAH(=XESESIA) 743,170 689,292 53,878
eI 2| 743,170 689,292 53,878
101 @1 2d| 722,170 668,712 53,458
01 E= 722,170 668,712 53,458
(123) 493,578
1.J1s72(2858) 2,888,900& x5 x 128 173,334
2.01s83 (258 8) 2,529,600 x 10 123 303,552
KIPSESY/ Falla] 476,886,000%3.5% 16,692
(4=¢) 64,906
EEE-EE R 1,004
o JlsTEdR(17es)
2,223,100 x 184 1%~ 128 1,094
2.832xY 493,578,000 *1/12 41,132
.3a=Ett= 22,680
Jb.259 014 130,000& «12H x 128 18,720
Lt. 208014 25018 110,000 «3H « 128 3,960
OEELY) 12,454
1.5+ 8,880
Jb. B At 40,0002 x 12+ 123 5,760
L OIEDES 20,0003 x 13~ 123 3,120
2. XESHIEE+E 3,574
Jb.NsSsH 446, 7003 »2H x4D| 3,574
(S42249) 1,440
1L ASAH2EER+E 40,0003 «3E ~12& 1,440
(N222RH) 77,034
ISR 44,713
DIe= 8,078 «6H «33AI 2tx 123 15,995
Lt.8= 7,2523 %102 *33A| 2H+ 12 28,718
2.01IUBHY SYUEYR ST 27,099
DIVa= | 8,078& «5H «20 Al 2tx 123 9,694
Lt.8= 7,252 x10B «20A| 2+ 12 17,405
BALIEE SHEL2
7,252 +6H «10Al 2H+ 123 5,222
(U224 8) 72,758
1. 8944 130,000 15 x 128 23,400
2. &S0 493,578,000& *1.2/12 49,358
204 M=l A H| 21,000 20,580 420
02 =2 x| 21,000 20,580 420
1. A= 224 21,000
boIs7S 140,000& »5H « 123 8,400
Lt.J1S8,95 105,000 10E x 128 12,600
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N B2 (33) - NRAY - BES Ol A o HluSZ
=34 108,764 132,119 N23,355
=34 108,764 132,119 A 23,355
201 L2 24,764 24,359 405
01 A2 2 2ldl 21,668 21,263 405
(et~ EHl) 13,225
1. 2N 2E =24 200,000& «48H 9,600
2. 524600 SAAIHE I
25,0003 »335F 825
SIS HEHAIZE AR
100, 000& «7CH 42| 2,800
(=&tl) 13,860
1L uSUFEFAI =4
7,000 x33H 54!« 128 13,860
(ol &tz 2) 27,085,000 *—20% Ab,417
02 2324l 3,096 3,096 0
(SZ2=LHA) 3,440
1 SEIELRDXM(SII)
1,720 »2,0000H 3,440
(ol arE2) 3,440,000 »—10% A 344
202 44| 77,520 101,280 A23,760
01 2 LHAbI 43,200 57,600 A 14,400
1. USUHER=TI= 0]
20,0003 x92 x20H 123 43,200
02 EHNHI 34,320 43,680 29,360
TuSNEHANSHSHRFA0
220,000 «13H 128 34,320
203 L2 =&l 5,280 5,280 0
04 BEAZ2EHRFAH 5,280 5,280 0
1.212 350,000& 12 4,200
2.=1t 5,000&~18F ~12& 1,080
204 X 2= HH| 1,200 1,200 0
01 SR A 1,200 1,200 0
1. ARG YR =LA 100,000& «12& 1,200
S(Ws) 4,000 12,000 A8,000
NE(FUHESESA 4,000 9,000 /5,000
EEtE =2 IIE 4,000 9,000 /5,000
802 gt =JIEt 4,000 9,000 25,000
RBudss 4,000 9,000 A5,000
Lea A= EAE 2SS 3,000,000& 3,000
2HFNSREFAERSEES 1,000,000& 1,000
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